Quiz 10 11.8-and first part of 11.9/10

(D Find the radius and interval of convergence.

- » didd incdass

- (2n)!

(@)
(2 points)

mr !
°’°I (znh:\‘ X"

e )
X (é-f\\ — l m X ’ - 2
’!‘:;\” (Zﬁ*i)(mﬁ)(?-n)’ w<n | e (2n+ (o) © "E)r X

R= on (—%9%)

X2 td (z.n\’
e (acm-\))( 2"

hm -E':I

ONEY 8—(x—2)"
et M (4 points)

Al

e\ W)
Ilh’\ O a2 = | im %r(x—z\ n i 8 .f'; h(“&' = &'X—Zl
" naw nees| L g'*b(.zﬂ e

I+ L, %eflCS 1s A.C. Olx-2l<| = l‘lt-Zl"-‘L
= L ¢ X-2¢ '/‘6

X= LQE} —(X 2)" Z ?h(\'L) Z(\y ls Lx‘ \%

chesk endponts
\

Y‘ ‘% Z ?h(‘l‘-\ Z L Div
T 1
L - l (©) 2 n'(x+4) e L—%) %) .
(2 points)

n=1

n—|
hmlo“ Is (0t (Xry) " = |tmInHI(X"‘"I) = X
h—’bl ‘ (x.'.‘_").‘ /(PS
for all )( except X= ——t-( Lhnen X=-4, 3=
'S Z n'(x)"= o, s converges ot K—~40nly

V‘—‘ Q_o



(2) Use the definition of a Taylor series to find the first four nonzero terms of the series for

f(x) = tanx centered at a=% DM‘Q_d'l\J %
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2) Find the Taylor series for f(x)=cosx centered at g= % using the definition. Express in summation
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